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ECON.OMIC‘S
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PAPER — 1
Full Marks : 90
Time : 4 hours
The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Illustrate the answers wherever necessary

Use separate scripts for each Half

' NEW SYLLABUS
[ FIRST HALF]

( Micro Economics-1 )

( Turn Over)



1.

(2)

GROUP — A
Answer any five questions 2%5

(a) Draw the indifference curve when the two
goods are perfect substitute.

(b) Define shut-down point.

(c) What is normal profit ?

(d) What- do you mean by indifference curve ?
(¢) What is production possibility frontier ?
() What is meant by opportunity cost ?

(g) Differentiate between inferior good and
giffen good.

(h) What is elasticity of substitution ?

GROUP - B

Answer any three questions : 5x3

Distinguish between income effect and substitution
effect and show their impact on the law of
demand in the case of a normal good. 2%+ 2%
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(3)

Show that elasticity of substitution between
factors is equal to 1 in the Cobb-Douglas
production function. 5

Define isoquant. What will be the shape of the
isoquant in the case of the following production
function : ' 2+3
. [K L
Q = Min [E,-b':!

Derive demand curve using Revealed Preference
Theory. ' _ 5

Distinguish between ordinary.and compensated
demand curves. 5

Distinguish between returns to scale and returns

to a factor of production. 5
GROUP -C
Answer any two questions : 10x 2

Show, using isoquants, the conditions of cost
minimisation for a given output. 10
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(4)

9. Explain the conditions of profit maximisation of

a firm under perfect competition. Why does the
firm in a perfectly competitive market continue
production even with loss in the shortrun? 6+ 4

10. Define expansion path. Show that expansion
path is a straight line through the origin in case
of Cobb-Douglas production function. 3+7

11. () Show that price elasticity of demand ranges
from zero to infinity on a linear demand curve.

(b) Derive the relationship between price
elasticity, income elasticity and cross
elasticity of demand. 545

[ SECOND HALF ]
( Macro Economics-1)

GROUP — A

1. Answer any five questions : 2x5

{a) Distinguish between GNP at market price and
GNP at factor cost.

UG OAHVTES { Conlinued }

‘»



(3)

(b) What is paradox of thrift ?

(¢) 1If MPC =043, find consumptlon function
and saving function.

(d) What is inflation ? How is it measured ?
(¢) What is Gresham's Law ?
(f) What is liquidity trap ?
(g) What is regressive expectation ?
(k) What is Say's Law of market ?
GROUP - B

Answer any three questions : 5x3

" Point out the limitations of using GNP as an
index of welfare measure.

Discuss briefly the portfolio selection for an
asset holder who is known as risk diversifier.

Explain two credit control mechanisms of
central bank. '
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(6)

5. Interpret the following identity in a closed
economy :

=S+ (T-G)

6. State and explain the features of Keynesian
consumption function.

7. Explain the relationship between MEC and MEI.

GROUP —-C

Answer any two questions : 10 x 2

8. What is 'Ratchet Effect’ in consumption ? How
does Friedman's Permanent Income Hypothesis
explain the short-run variability and long-run
constancy of average propensity to consume ?

9. Explain Boumol's theory of transaction demand
for money.

10. Discuss the value added method of national
income accounting and compare it with production
method.
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(7)

11. Define M, M, and M. Show how commercial
banks create money by creating deposits. What
are its limitations ?
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